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B Grey line: exponential fit Peak flux: 1.389+/- 0.266 c/s/cm’ N
| Black line: power law + gauss fit Fluence : 21.45+/- 5.98 c/cm? ]
L Dashed line: power law Duration 82 46+/- 29.10 s |
L Best fit model: 1. 1
L Best fluence model: 1. ]
B | | Best duration model: 1. 7
ST l i i) HMMM\ }ML Hl\ HM\HUHMH M
: WWH | W ai WH | )\ bl L (il
; Exponential fit é
= Expon.time: 51.56+/- 14.72 s (chi*-red= 0.74) 3
- | o b3
=y Hﬂﬂﬁﬁﬁﬁmﬁ*Hﬁ+Hwﬂﬁwﬁmiﬁﬁ“ﬁ*ﬂﬁﬁ*ﬁH+ﬁﬂ++§++H*++§ﬁ+w*Hﬁmﬂw%ﬁﬁﬁﬂ+H#*ﬁ+**g+++w*+ﬂﬂ*ﬁwﬁﬁm %ﬂHﬁwﬁ++H+*ﬂmﬂmﬁ#ﬁﬁﬁWﬁi
; Power law fit é
E Power law index: -0.920+/- 0.263 (chi*-red= 0.75) =
= | + »
SR T +#*Hﬁ*M%*ﬁﬂﬁﬁﬁ%ﬁﬂ*ﬁﬂﬂwﬁw*+ﬂﬁ+H*H%Hﬂ**ﬁﬂ*HﬁWﬂﬁ*ﬂﬁwNW@m+HH*ﬂm+mﬂWﬁﬂWWWﬁﬁ% w+wWﬂmﬂwwwﬁ
i‘ I T T T T T T T T T I T T T T T T T T T I T i
—  Power law fit plus Gaussian (st.dev.= 56.20+/-56.88 s, fracgs= 0.64+/- 0.51) =
- Power law index: -1.874+/- 1.493 (chi*-red= 0.75) 3
= | T o
T H+mﬂ++HH+Mw+Mﬁﬂﬁwﬂﬂﬁﬂ+Hﬁﬂ#uﬂﬁ*+ﬁH%mTm%ﬁm%+ﬁ}+Hﬁ*ﬁm+++w+ﬁmﬁﬁ+Mu#ﬂ+Hm+ﬁﬁ#ﬁﬁwﬁﬂﬂﬂﬁ w+wWﬂﬂw%ﬁ@%ﬁﬁﬁWﬁ
E | I I I I I I I I I | I I I I I I I I I | I I E
0 100 200 30

0



